
1 
 

jkpo;  

Mz;L 1 

 

 

nkhj;jg;Gs;spfs;: 80 

(vOJjy; 65 Gs;spfs;> thrpj;jYk; 
tpsq;fpf;nfhs;SjYk; 15 Gs;spfs;) 
 

 

gf;fq;fs;: 12 

 

 
                                                                   

 
 
 
 
 
 
 
 
 
   

nghJj;Nju;T khjpupj;Nju;Tj;jhs; 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Neuk;: 90 kzpj;Jspfs;  

 

 

 

 

 

 

 

 

 

 

 

Rl;nlz;:  



 
 

2 
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 gFjp - 1 

1.  nghUj;jkhf ,izf;Ff. 

   v.fh:     

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

•  •  

•  

•  

•  

•  

(5 x 1 = 5 Gs;spfs;) 

•  •  

•  •  

•  •  



 
 

4 
 

 

 

2.  nghUj;jkhd vOj;ij vOjp> nrhw;fis epiwT nra;f. 

   v.fh:    

 

   r; + X = Nrh   Nrh  sk;  

 
 

1. f; + c =  il 

 

 
 

2. j; + V = q;fha; 

 

 
 

 

 3. z; + , = m   y; 

 

 
 

 

 4. t; + v = q;fhak; 

 

 
 

 

 5. s; + M = fh     d; 

 

 

 

 

(5 x 2 = 10 Gs;spfs;) 
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3. glj;jpd; ngaiur; Rw;wp tl;lkpLf. 

         
   v.fh:    

 
 
 
 jhsk; kzp fpz;zk; 
 
          

       
 

 %q;fpy; Njhuzk; ney; 

 

  
 

 

 eup Kjiy gd;wp 

 

 
 

 

 

 fjputd; tpz;kPd; thdtpy; 
 

 

 
 

 nrt;te;jp fhe;js; Ksup 

 

 

 

 

 

 thndhyp njhiyf;fhl;rp fzpdp 

 

 
(5 x 2 = 10 Gs;spfs;) 
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4.  tpLgl;l vOj;ij vOJf. 

    v.fh:  

 

  njh   Ngrp 

 

 

 

 

       uhl;ir 

 

 

 

 

  ngh     ik 

 
 

 

 

 

 

  nkhl; 

 

 

 

 

 

  nr     gfk; 
 

 

 

 

 

 

  ,s     u; 

 

 

 

(5 x 1 = 5 Gs;spfs;) 

iy 
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5. glj;Jf;Fupa nrhy;iyf; fz;Lgpbj;J vOJf. 
 

 

 v.fh: 

 
 
 
 
 
 
 
 
 
 
 
 
      fz; 

 

 
 
 
 
 
 
 
 
 
 
 

 

 

 
 

 
 
 
 
 
 
  
 
 

 

 

f j; 

z; 

th a; 

f kh 

d; 

M 

L 

k 

ap y; 

F 

fp 

z 

W 

M 

g 
k; 

 

 

l 
j 

J 

W 
 

d; 

x 

g 

 

(5 x 2 = 10 Gs;spfs;) 

l; 
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6. vLj;Jf;fhl;ilg; ghu;j;Jg; nghUj;jkhf vOJf. 

   v.fh: 

 

 

 

 

 

 

  

 

 

  

 

 
 

 

 

 

 

 

 

 

 
 

 

 

 

 
 

 

 

 

 

  ,J xU Kay; 

,it _________________ 

    mJ xU _________________  

 mit Nrty;fs; 

,J xU kPd; 

,it ________________ 

mJ xU _______________ 
_____________________________ 

,it Eq;Ffs; 

,J xU _____________  

(4 x 2 = 8 Gs;spfs;) 

mit rpg;gpfs; 

Kay;fs; 
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7. NtWgl;l nrhy;iyr;Rw;wp tl;lkpLf.  
 

      v.fh:    
      jhsk;     Nksk;   Nksk;  Nksk; 

1. $L   $L   $L   NjhL 

 

2. Gyp   Gsp   Gsp   Gsp 

 
 

3. nrk;G   nfhk;G  nrk;G  nrk;G 

 

4. rpiy   rpiy   rpiy  ,iy 

 

5. thdk;  thzk;  thdk;  thdk; 

 

8. glj;ijg; ghu;j;J MW nrhw;fs; vOJf. 

 
 
 
 
 

 

 

 

 

 

 

 

 

 
 

 

 

(6 x 2 = 12 Gs;spfs;) 

 

v.fh: _________________________ 

 

  1. _________________________ 

 

  2. _________________________ 

 

  3. _________________________ 

 

  4. _________________________ 

 

  5. _________________________ 

 

  6. _________________________ 

 

   

 

gdp 

(5 x 1 = 5 Gs;spfs;) 
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gFjp – 2 

1. vLj;Jf;fhl;ilg; ghu;j;J> nrhw;fspd; vz;fisg; glj;jpy; nghUj;jkhf 
vOJf. 
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            v.fh:       1. fjputd;   

2. J}z;by;  5. thj;J 

3. jtis  6. eha; 

4. ghyk; 

 
 
 

2.  glj;ijg; ghu;j;Jg; nghUj;jkhf ,izf;Ff. 

 
       v.fh:   eha;  kQ;rs; 

1. fhfk;  ePyk; 

2. ,iy  rptg;G 

3. fjputd;  fWg;G 

4. G+  nts;is 

5. thdk;  gr;ir 

 (5 x  2 = 10 Gs;spfs;) 

(5 x  1 = 5 Gs;spfs;) 

•  

•  

•  

•  

•  

•  

•  

•  

•  

•  

•  

•  
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gzpafg; gad;ghl;Lf;F kl;Lk; 
 

tpdh 

vz; 

 

Gs;spfs; 

 

Kjyhk; 

Kiw 

 

,uz;lhk; 

Kiw 

 

,Wjpg; 
Gs;spfs; 

 

vOJjy;  

1 05    

2 10    

3 10    

4 05    

5 10    

6 08    
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7 05    

8 12    

thrpj;jYk; tpsq;fpf;nfhs;SjYk; 

1 05    

2 10    

 nkhj;jg; 
Gs;spfs; 

   
 

 

 KOg;ngau; ifnahg;gk; 

Kjyhk; Kiw   

,uz;lhk; Kiw   

Nkw;ghu;itahsu;   

 


